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Al: A— (B— A)
A2 (A= (B C)) = (A= B) = (4 0))
A% A= (B— (AAB))
A4 (ANB) — A
A5 (ANB)— B
A6 (A= C) = (B C) = (AVB) = C))
A7: A — (AV B)
A8: B— (AV B)
A9: ——A— A
A10: (~A = (A= L) A((A— L) = -A)
Al11: VoA — Alz|t], in which the term ¢, is free for z in A.

A12: Vz(A — B) — (A — VaB), in which « is not free in A.



A13:

Al4:

R1:

R2:

Alz|t] — 3z A, in which the term t, is free for = in A.
Vz(A — B) = (3xA — B), in which z is not free in B.
(A,A— B)/B

A/Vx A, in which x should not be a free variable of some formula used to deduce A.
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10.

11.

s o S ) Jslad e ks o&os (R2 5 R1asl8 5 V-1 F

(AANB) = (BANA) Y

(B (A= (BAA)] = [(AAB) = (B = (A= (BAAD] «v oo Al
B o (A = (B A A et A3
(ANB) = (B = (A= (BAA)) e R1(1,2)
[(AAB) = (B— (A— (BAA)] = [((AAB) = B) = (AAB) = (A— (BAA))] ..o A2
((AAB) =5 B) = ((AAB) 5 (A= (BAA))) et R1(3,4)
(AAB) o B oo A5
(AAB) = (A= (BAA)) oo R1(5,6)
[(AANB) > (A— (BAA)] = [((AAB) = A) = (AAB) = (BAA)] «v oo A2
(ANB) > A) = (ANB) = (BAA)) e R1(7.8)
(ANB) o A A4
(ANB) = (BAA) oo R1(9,10)
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L1 A— A
L2(A=B)=»(B=0C)=(A—=0)
=S DLl LY O gl S anaml e (FF (gamino) W) Jla c [V] & LY S (sl oS
{A-B,B—>C}typ A—=C
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1. A— B

2. B—~>C

3. (B = 0) = (A= (B C)) oo Al
G A (B = 0 e R1(2,3)
5. (A)B = C)) = (A= B) = (A= Q) e A2
6. (A= B) = (A = O e R1(4,5)
T A O R1(1,6)
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LA 5 L) o (Ao L) o L1
2. (AL Ao L) (Ao L) = A) 5 (A= L) = L)) oo A2
3 (A= L) = A) = (A= L) = L) oo R1(6,7)
G A (Ao L) o A) Al



5 (A2 ((A=D)=24)=2[((A=L)=A) = (A== 1)@= (A= 1) = 1)) ....L2
6. (A= L) = A) = (A= L) = L)) = (A= (A= L) = L)) oo R1(4,5)
7oA = (Ao L) o L) oo R1(3,6)
8. (FA = (A= L) A (A = L) = A A10
9. [(FA= (A= LNA(A= L) = —A)) =2 (A= (A= L) oo A4
10. TA = (A > L) e R1(8,9)
1 (mA = (A= 1) = [((A = L) = L) = (AA = L) e L2
120 (A= L) = L) = (mA = L) e R1(10,11)
B. A (A= L) 5 L)) o [(((A= L) = L) = (A= 1) = (A= (A= L)oo L2
1 (A= L) = L) = (mA = L) = (A= (FA = L)) oo R1(7,13)
15, A o5 (A o L) R1(12,14)
16. VA — A o Al4
17. (VoA — A) = [(A = (7A = L)) = (VA = (A = L)) oo L2
18. (A= (A= L)) = (VEA = (FA = L)) o R1(16,17)
19 VA = (mA 5 L) o R1(15,18)
20. VZ(VZA = (FA = L)) e R2(19)
21 Vo (VoA = (mA = 1)) = (VEA = V2(mA = L)) oo Al2
22. VA = V(A — L) oo R1(20,21)
23. V2(mA = L) = (F2A = L) oo Al4
24. (VoA = Vo(=A = 1)) = [(Va(~A > 1) = (Gz-A = 1)) = (VzAd = Gz-A = L)]...oono... L2
25. (Vo(=A — 1) = (Jz-A4 — 1)) = (VoA — (Gz—A4 — 1)) R1(22,24)
26. VA — (FmA — L) oo R1(23,25)



27. (Fz—A = (Fz-A = L)A((FzmA = L) = —30-A) oo A10
28. ((mFz—A = (Fz-A - L)A((Fz-A - L) = —F2z-A4)) = (Fz-A — L) - —-Fax—A). ... A5
29. (Fx—A = L) = m3m A R1(27,28)
30. (VeA = (Fz-A— 1) =5 [(Fz-A— L) > —Fx-A) > (Ved - —Fz—A)] oo L2
31 (Fz—A — L) > —~Fz—A) = (VoA = —3x0A) oo R1(26,30)
32. VA — 3@ R1(29,31)
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